
Final Exam
Microeconomics for Public Policy I
Fall 2020
December 15, 2020

Name:

Exam Instructions

1. This exam is open book, open note, open internet.

2. All work you turn in should be your own, and in your own words. You should work by
yourself on this exam.

3. Answer all questions.

4. The exam is graded out of 100 points. Points for each section and question are indicated
on the exam.

5. Write legibly. Illegible exams cannot be graded.

6. The final page is intentionally left blank for extra work. If you do extra work on this
page (or any other non-standard location) that you would like to be counted, note it
clearly near the question you are answering.

7. Label all figures as needed.

8. We give liberal partial credit. If a question has multiple parts and you can’t answer
one, it is in your best interest to answer all the remaining parts to the best of your
ability.

9. Make sure you explain your answers as needed. When appropriate, you should also
explain any assumptions that you make to arrive at your answer. Explanations may
yield partial credit.

10. Be concise.

Submission Instructions

1. Submit to your personal google folder

2. Submit one pdf for the entire exam

3. Name the pdf lastname final.pdf. Mine would be brooks final.pdf

4. The exam will run till the end of the class session (5:20 or 8:00). You then have a ten
minute grace period to turn in your exam (till 5:30 or 8:10)
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5. After this, we take off one point for each minute the exam is late

6. If you run into disaster, post pictures of all your exam pages to your personal google
drive folder by the deadline and post the pdf as soon as possible after that

7. In the event of google drive failure, submit your exam to lfbrooks@gwu.edu. This is
a last resort only.
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A. Ripped From the Headlines (9 points, 3 each part)

Read the article from the Wall Street Journal at the end of the exam.

1. Use supply and demand language and a graph to show why the price for “recycled cat-
alogs, boxes and newspapers collapsed” two years ago. A complete answer uses your graph
to show the situtation before and after the price collapse.

2. Name at least two changes to costs for American recycled paper producers that are men-
tioned in the article. For each one, explain if this cost that changed was a fixed or variable
cost.
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3. Though the article does not state this explicitly, we can make a prediction about what
may happen to the price of recycled paper in China. Use a supply and demand framework
with a graph to make a prediction about what will or is happening to paper prices in China.
Explain which curve shifts and why.
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B. Short Answer Questions (5 points each, 40 points total)

1. Give two examples of things that could shift the supply curve for chocolate, and describe
which way each shifts the curve.

2. Explain what public good autopsies produce by referring to (and explaining) the defini-
tion of public goods.
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3. Does a firm prefer to produce when MR > MC, or when MR < MC? Why?

4. This year there have been a large number of retail closures and bankruptcies due to
covid and attendant restrictions. Give a specific example of a firm closure (full or partial)
or bankruptcy and name two costs to the firm due to this: one cost that is sunk and one
cost that is not. Explain why using the definition of sunk costs.
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5. Name two potential sources of market power, and give an example of each. Please be
specific.

6. Give an example of a negative externality that you have exerted on others. Use the
definition of externality in your answer.
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7. Why might a perfectly competitive firm operate in the short run when it will have negative
profits? Explain why, using the conditions under which a firm should operate in the short run.

8. Suppose that a firm operates with marginal product of capital is MPK = 5L, and
marginal product of labor is MPL = 3K. The firm faces a wage rate of 3 and a capital
rental rate of 2. The firm is currently consuming 2 units of capital, and 3 units of labor.
Is the firm optimizing its purchases of capital and labor? If it is not, from which input is
it getting more value for the last unit, and which should it purchase more of: capital or labor?
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C. Medium Answer Questions (51 points total)

1 ((a)-(e), 3 points, 15 points total) Market Demand

Suppose that there are only two people in the world: Anne and Betsy. Anne’s demand is
given by Q = 100 − P and Betsy’s demand is given by Q = 50 − 1

4
P .

(a) Do these demand curves slope upward or downward? Why?

(b) Draw separate graphs of Anne’s and Betsy’s individual demand curves. Label all inter-
cepts and axes.
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(c) Find an expression for total market demand, assuming that the demand curves are for
private goods. Draw the market demand curve in a graph, labeling axes, intercepts and kink
points.

(d) Now, suppose that this good Q is a public good. Draw the market demand curve in a
graph, labeling axes, intercepts and kink points.
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(e) Explain why your pictures for (c) and (d) have different y intercepts. To do so, it may
be helpful to explain the intuition for both y intercepts.
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2 ((a-c), 3 points; (d & (e), 4 points; 17 points total) Pigouvian Taxes, Externalities, and
Tax Incidence

Suppose that the market demand for chocolate is equal to Q = 200 − (4/3)P . The pri-
vate marginal cost of chocolate production is PMC = (1/4)Q + 50. Chocolate production
uses cocoa beans as an input. Sadly, cocoa bean producers use some terrible spray on the
beans that harms chickens. Therefore, the social marginal cost of chocolate production is
SMC = (1/4)Q + 75.

(a) What is an external marginal cost and is the external marginal cost of chocolate produc-
tion in this problem?

(b) What is a fixed cost? And what is the fixed cost for chocolate producers?
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(c) Suppose that the government levies a Pigouvian tax on $25 per unit on chocolate pro-
ducers. What are the equilibrium price and quantity in this case?

(d) Quantify the burden of this tax on consumers and producers of chocolate. Give exact
numbers. A picture may be very helpful to figure out the tax burden.
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(e) Explain why the larger tax burden you find in (d) falls on the party on which it does.
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3 ((a), 3 points; (b)-(e), 4 points; 19 points total). Competition

Answers in this question are sequential. If you don’t find the answer to a given sub-question
but have some ideas about how to solve the next one, write down as much as is helpful to
earn partial credit.

(a) Suppose that the paper industry is competitive and has 100 identical firms, each with
marginal cost MC = (1/4)Q + 40. What is the industry supply curve? Draw a picture to
illustrate the logic of your addition.

(b) Demand for paper is P = 60−(3/400)Q. Find the market equilibrium price and quantity.
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(c) Now suppose that there is only one firm and it is a monopolist. This monopolist has the
industry supply curve you found in part (a). Demand is unchanged from part (b). What
are the new equilibrium price and quantity?

(d) Indicate producer and consumer surplus for this monopoly case in a picture where you
label axes, intercepts and key points. (You do not need to calculate specific values.) Without
calculating specific values for this or the competitive case, compare the areas you have indi-
cated to those in the case of perfect competition. Explain whether producer and consumer
surplus are larger, smaller or indeterminately different between the two cases.
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(e) Return back to the world with perfectly competitive firms from part (a). Suppose that
each perfectly competitive firm’s average variable cost is AV C = (3/4)Q+30, and the firm’s
marginal cost remains MC = (1/4)Q + 40. Would the firm produce in the short run if the
market price is 40? if the market price is 45? if it is 50? Explain why. (A picture may be
helpful in finding the answer.)
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Blank – for extra work
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